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QUESTION 1

What is an advantage of the BDTM approach? 

A. a test process that can be controlled by the client 

B. a cheaper test process 

C. a risk-free production launch of the tested system 

Correct Answer: A 

 

QUESTION 2

Which test design technique uses operational profiles and load profiles? 

A. Data Cycle Test 

B. Process Cycle Test 

C. Real-Life Test 

D. Use Case Test 

Correct Answer: C 

 

QUESTION 3

Which system development method is agile and contains structured guidelines for development testing? 

A. DSDM 

B. SDM 

C. XP 

Correct Answer: C 

 

QUESTION 4

See the specification below: 

IF A AND (B OR C) THEN error message ENDIF 

How many logical test cases are distinguished if Semantic Testing with coverage type decision points condition/decision
coverage is used? 

A. 2 
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B. 3 

C. 4 

D. 8 

Correct Answer: A 

 

 

QUESTION 5

Which defect has an internal cause that can be solved within the test team? 

A. a defect in the test basis 

B. a defect in the test specification 

C. a defect in the test object 

Correct Answer: B 

 

QUESTION 6

See the specification below: 

How many logical test cases can be generated if a semantic test using the coverage type decision points modified
condition/decision coverage is used? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: C 

 

QUESTION 7

What strongly benefits the quality characteristic \\'testability\\'? 

A. the ease of operation of the system by the end-users 

B. the ease with which an interface can be created with another information system 
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C. the ease with which the information system can be placed and maintained in an operational condition 

D. having a regression test and othertestware 

Correct Answer: D 

 

QUESTION 8

What is not an advantage of applying a test design technique and recording it in the test specifications? 

A. that the tests are reproducible 

B. that the test specifications are transferable 

C. that coverage of 100% is achieved 

D. that it provides a justified elaboration of the test strategy 

Correct Answer: C 

 

QUESTION 9

The test infrastructure consists of facilities and resources required to conduct testing effectively. Which facility does not
belong to the testing infrastructure? 

A. test environments 

B. test design techniques 

C. test tools 

D. workplaces 

Correct Answer: B 

 

QUESTION 10

See the specification below: 
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Apply the Decision Table Test to the above specification. When doing this, use the coverage type multiple condition
coverage. How many logical test cases result in an error message? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: B 
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